Word Problem
Identify the correction operation for each problem. Write the number sentence you would use to solve it and then evaluate for a final answer.

1. Julian has 38 Hershey kisses to make smores. If he uses 2 in each, how many can he make?



2. Gavin spends 12 minutes writing each paragraph for ELA.  If his essay needs to have 5 paragraphs how long will it take him to complete?



3.Each decorated tree has 60 lights on it, if you have 14 trees decorated in total how many lights are on the trees?



4. Lara has 580 ornaments in total, if she 20 on each tree, how many trees can she decorate?




5.  Nigel rents a limo and pays $45 for each hour.  He needs it for 3 hours; how much will he pay?





6.The soccer team starts the day with 456 ounces of Gatorade, at lunch the amount of Gatorade has decreased by 202 ounces.  How much is left?




7. Gabriella sprints 85 meters, her friend Maria sprint four times as far.  How far did Maria sprint?




8. Ms. Abraham has 70 cookies in a jar.  IF she splits all her cookies into bags of 5, how many bags will she have?






9. Benji has 48 pounds of apples, if he is going to share them equally with 5 friends, how much will everyone get?
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10.  A pirate has 482 coins on his ship, buried 548 in a treasure chest, and has 24 under a pillow at home, how much does he have in all?






